Mean Spectrum

fa (1077 erg em™2s7'47")

A () z = 1.44362

RMS Spectrum

- e ____ . BLR 3980 NLR
(| :_I_'__|_'I_I_'I'_[" '|' IINU _'V__I_'[ Ll '|' ™

1.5

v i : MWM“ "“’M:

ey m&immw .

3000
A (R) z = 1.44362

x(\t) = ( Data — Model ACsB,F ) / o x
%/(413190-5282)=0.902=>1.007

80

60

spectrum number
40

20

1500 2000 3000

1.44362

4000
AN@)z=

bad:515=0.12%

u = 0.015(20) x = 0.917(72)
med(mad)

‘wl .rlf \‘1‘}1!“1 ' ‘ | '.]me, ﬁ”

rm404
‘ /|

& and x
—0.05 0

-0.1

-0.15

B F

1500 3000

A (R) z = 1.44362

4000

800 km/s -\,

’

-2

f) (10717 erg em™2s7'87")

& and x

Continuum Lightcurve

rm404 med(mad)% c5
Anll okl AL — T T T T T T T T T
Acf2494R) —0.4(7.0)% S/ 1
Io
0 7o)
b ]
o A H{ X - ) S = o
" L
7 12
1 0.3 [ 1.9 15.A 1 I ,'94.A 1 .248.A 1 . 4?30.3 |'_I
7000 7500 8000 8500 9000

MJD — 2450000

BLR Lightcurve

S/N BLR 0.47 Mgl 9.6

T
15

cm] Hell 11 CIV 21

n P PR P PR
! 7000 7500 8000 8500 9000
MJD — 2450000
Phot Corrections
rm404 med(mad)% Ap 1
T T T 1 T T T L
o Ap 100.00(84)% S/N —9.1
Prior(Ap) 5.0 %
— ~Tf ap
" 1 " " 1 " " 1 " " " " 1 " " " " 1
7000 7500 8000 8500 9000
MJD — 2450000
u = 0.0149(69) x = 0.913(16)
rm404 med(mad)
T T T T T T T

N - N - N -
7500 8000 8500

MJD — 2450000

N -
7000

Ac %



